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a, b=1, 1
for 1 in range(30):
a, b =a+ b, a
print("n=", i, end=" ")
print("a=%d" % a, "“\tb=%d" % b, end="")
print("\tb/a=%.9f" % (b / a))
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n= 3 a=8 b=5 b/a=0.625000000
n= 4 a=13 b=8 b/a=0.615384615
n= 5 a=21 b=13 b/a=0.619047619
n= o a=34 b=21 b/a=0.617647859
n= 7 a=55 b=34 b/0=0.618181818
n= 8 a=89 b=55 b/0=0.617977528
n= 9 a=144 b=89 b/0=0.618055556
n= 1@ a=233 b=144  b/a=0.618025751
n= 11 a=377 b=233 b/a=0.618037135
n= 12 a=610 b=377 b/a=0.618032787
n= 13 a=987 b=610 b/a=0.618034448

n= 14 a=1597 b=987 b/a=0.618033813
n= 15 a=2584 b=1597 b/a=0.618034056
n= 16 a=4181 b=2584 b/a=0.618033963
n= 17 a=e7e5 b=4181 b/a=0.618033999
n= 18 a=1@946 b=6765 b/a=0.618033985
n= 19 a=17711 b=1@946 b/a=0.618033990
n= 20 a=28657 b=17711 b/a=0.618033988
n= 21 a=46368 b=28657 b/a=0.618033989
h= 22 a=75025 b=46368 b/a=0.618033989
n= 23 a=121393 b=75025 b/a=0.618033989

n= 24 a=196418 b=121393 b/a=0.618033989

n= 25 a=317811 b=196418 b/a=0.618033989

n= 26 a=514229 b=317811 b/a=0.618033989

h: 27 0=832040 b=514229 b/a=0.618033989

n= 28 a=1346269 b=832040 b/a=0.618033989
n= 29 a=2178309 b=1346269 b/a=0.618033989
>>>




import math

fenzi

fenmu = 2

for 1 1n range(3@):
fenzi, fenmu = fenzi + fenmu + fenmu, fenzi + fenmu
print("n=", i, end=" ")
print("a=%d" % fenzi, "“tb=%d" % fenmu, end="")
print("\ta/b=%.97" % (fenzi / fenmu))

print("280F 52 ", math.sqrt(2))

Fle Edit Shell Debug Options Window Help
n= 10 a=47321 b=33461 asb=1.414213562
n= 11 a=114243 b=88782 a/b=1.414213562
n= 12 a=2758087 b=195025 a/b=1.414213562
n= 13 a=665857 b=470832 a/b=1.414213562
n= 14 a=1607521 b=1136689 a/b=1.414213562
n= 15 a=3880899 b=2744210 a/b=1.414213562
n= 16 a=9369319 b=6625109 a/b=1.414213562
n= 17 a=22619537 b=15994428 a/b=1.414213562
n= 18 a=54608393 b=38613965 a/b=1.414213562
n= 19 a-131836323 b=93222358 a/b=1.414213562
n= 20 a=318281039 h=225058681 a/b=1.414213562
n= 21 a-768398401 b=543339720 a/b=1.414213562
n= 22 a=1855077841 b=1311738121  a/b=1.414213562
n= 23 a=4478554083 b=3166815967 a/b=1.414213562
n- 24 a-10812186007 b-7645370045  a/b=1.414213562
n= 25 a=26107926097 b=18457556052 a/b=1.414213562
n- 26 a=63018038201 b=44560482149  a/b=1.414213562
n= 27 a=152139002499  b-=107578520350 a/b=1.414213562
n- 28 a=367296@43199  b=259717522849 a/b=1.414213562
n= 29 a-886731088897  b-=627013566048 a/b=1.414213562
289F 52 1.4142135623730951
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